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MASTER OF ARTS EXAMINATION, 2023
(2nd Year, 4th Semester)
PHILOSOPHY
[ Philosophical Approaches to Consciousness:
Indian and Western |
Time : Two Hours Full Marks : 30
Answer either in English or in Bengali.
Group — A
1. What are the arguments of the Advaita Vedantins in favour
of the view that pure consciousness, though beyond the

three bodies, five sheaths and three states, is their witness?
Explain. 10
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2. What are the arguments of the early Buddhists against the
view that one and the same consciousness lies behind
changing physical and mental states? Discuss following
Mahatanhasankhyaya Sutta of the Majjhima Nikaya .
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. Can the omniscience of I$vara be identified with

consciousness reflected in antahkarvanavritti ? Discuss

after the Advaita Vedantins. 5
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Explain Candrakirti’s seven-point refutation of an
inherently existent self. 5
FOIIO: TGS SIS T SHAS AvE HAH T T i=ifG
[ =AU Y
Group - B

. Explain the third feature of thought following James. Is

there any relation between the second and the third features
of thought? Discuss following James. Discuss in this
context whether it is possible to admit transitive thought

in the Cartesian theory of consciousness. 5+3+2=10
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6. Discuss critically Searle’s view of subjectivity of
consciousness. Does this view of subjectivity differ from
the Cartesian view of the same in any respect? Discuss.
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7. Discuss how James’ view of introspection differs from

Descartes’ view and Searle’s view of the same. 5
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8. Whatis qualia? Do you think that qualia and consciousness

are coextensive? Discuss. 5
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